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Newsletter for week ending 15 June 2014
Mon

Angela George & Diva Hatfield**
Mim Blomquist & Sandra Mansell

Tue
Day
Margot O'Brien & Mim Blomquist
Norma Buntine & P Brown-Greaves

Night
David Hill & John Waldie

Anne & David Billinghurst**
Wed

Genevieve Webb & Helen Potaka
Mary Buchanan & Pat McCabe**
Fri

Joan Smurthwaite & Ann Perrott
Henry Josling & Stephen Curtis**
Sat

Eve Tuck & Pam Hart
Hand of the week: Saturday Board 19 E-W vul Dealer S
On handling freakish hands
The West hand is very similar to a hand I use in my beginners lessons: ( - ( 8 ( KQJ854 ( AK8732. The main difference being that the above hand was dealt at the table whilst the hand on the left was computer generated! The theory behind the bidding of both hands is essentially the same.
After South passes, West counts their HCP points (13) and considers opening 1(, which is not the correct opening bid! With a 6-card spade suit this hand has 5 playing tricks in spades (playing tricks = length of suit minus 1 for every card A K or Q missing in the suit); and 4 playing tricks in the diamond suit = 10 playing tricks, and is therefore too strong to open 1(. Opening 2( is better. East's negative 2 ( response denies having an A and K.
West should now probably leap to 4(, but if they bid 3( they may elicit a second bid from partner. In this case East bids 3NT showing points, stoppers in all other suits, and not a fit in spades! If there is no fit in spades - ergo there must be a fit in diamonds, so West should jump to 5(, and if East really thinks hard about West's hand a raise to 6( should be automatic!
The next Red Point events will be Tuesday night 1st July at 7.30 pm; or Saturday 28th June at 1.00 pm.
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